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PSYCHOLOGY
PAPER —1I

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  An action potential is caused by a self-propagating mechanism called :
(A) Polarization
(B) Assimilation
(C) Substitution
(D) Depolarization

2. Match List-I (Tests) with List-II (Constructors) :

List-I1 (Tests) List-II (Constructors)
(a) 16 personality factor questionnaire (1) Eysenck
(b) Picture frustration test (2) Murray
(c) Thematic Apperception test (3) Cattell
(d) PEN (4) Rosenzweig
Code : a b c d
(A) 3 4 1 2
(B) 4 3 1 2
© 3 4 2 1
(D) 4 3 2 1
3. A two-process theory of memory states that long term recall may fail because :

(A) information was never transferred from STM to LTM

(B) not enough cues may be available at the time of attempted recall to locate
information in STM

(C) the trace in LTM has decayed

(D) all the above



e

YA —11

A : T TS | e (50) dg-foahedta U9 €1 U U9 6 S (2) 31k €1 |elt Ul o 3w
S

1. 59 =9 - ywaifad A1egm % SR BHa- &9l (action potential) U1 Bt T 39 ed ©

2. gE-I (g fof o gEi-11 (Fafoekdl) 9 i

-1 (adieroT) Feit-11 ( Fmtorerat )
(@) 16 T ek gt (1) 3=k
(b) o e qde 2 W
(c) TEHSE SE-qdEu (3) hed
(d) Wz (4)  IoFEm
%< : a b c d
(A) 3 4 1 2
B 4 3 1 2
© 3 4 2 1
D) 4 3 2 1

3. wfa #1 fg-ulrm fagrm ufqufea wtar & T <H Fifaes STTER0 39 SR T9%A &
HhdT T :

A) STM ¥ LTM H g it TH=afid &l ga |
B) TSRV o §HY UAH Hohd IUTed &t o fored R STM o = fawifia foran s e |
Q) LTM H trace T&fed &1 g |

(
(
(
(D) 3w |t
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4. A psychologist developed a test for the army. Since the army unit had to move out
shortly, he could not administer the test twice to the same sample. By correlating
which of the following, could he get same assessment of the reliability ?

(i)  The scores based on odd items and the scores based on even items
(ii) Each item-score with every other item score
(iii) The scores based on randomly formed two halves of the test

(iv) None of the above

Code :

(A) (i) alone (B) (ii) alone

(C) (), (i) and (iii) (D) None of the above
5.  Therapies based on classical conditioning techniques are :

(1) implosive therapy

(2) flooding

(3) omission training

(4) systematic disensitisation
(A) 1land2 (B) land3
(©) 2and3 (D) 2and 4

6.  Which one of the following is NOT a parametric test :

(A) F-test (B) Sign test
(C) t-test (D) Z-test
7.  The sequence of key factors in observational learning is :

(A) motivation, production processes, retention, attention

(B) attention, retention, production processes, motivation
(C) retention, motivation, attention, production processes
(D) production processes, attention, motivation, retention
8.  Under certain conditions, Yates correction is applied in :
(A) Mann-whitney U test (B) Friedman’s ANOVA
(C) Kruskal wallis H test (D) Chi square test

D —0404 4
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9.  Galvanic skin response is :
(1) Increase in skin resistance
(2) Decrease in skin resistance
(3) Increase in skin conductance

(4) Decrease in skin conductance

Code :
(A) 1and3
(C) 2and3

(B)
(D)

1 and 4
2 and 4

10. Match List-I (Research methods) with List-II (Description) :

List-I

(Research methods)
(a) Case history method
(b) Correlational method

() Observational method

(d) Survey method

N P &= W N

=W NN A

List-II
(Description)
Study of naturally occurring events

A biography obtained for scientific
purpose

Information obtained through
questioning large number of people

Method to determine the association
between existing differences

11. Match List-I (Experiments) with List-II (Experimenters) :

Code : a b
(A) 1 4
(B) 1 3
< 2 4
(D) 1 3
List-1
(Experiments)

(a) Blocking

(b) Random time schedule shocks
in avoidance conditioning

() Learned helplessness

(d) Drug tolerance as

complementary CR

Code : a
(A) 1
B) 2
< 4
(D) 4

D —0404
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2
1
3
2
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List-1I
(Experimenters)
(1) Sielgel
(2) Seligman

(3) Herrnstein and Hineline
(4) Kamin
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12.

13.

14.

15.

16.

According to Freud, negativism as manifested by defiance of parental orders is most

pronounced during the stage :
(A) anal (B) genital
(C) oral (D) phallic

At which point in the memory process, improvement is least likely :
(A) retention (B) storage
(C) encoding (D) retrieval

According to Horney, moving towards people characterized by dependence,

unassertiveness and helplessness can be called :
(A) the detached type (B) the compliant type
(C) the hostile type (D) the dominant type

Match list-I (terms) with List-1I (description) :

List-I List-II
(Terms) (Description)
(@) Schemas (1) Wheninformation is not used it eventually
becomes weak to support recall
(b) Meta memory (2)  The organized cluster of knowledge about
any topic
(c) Decay (3) Knowledge about our own memory,
developed through experience
(d) Acquisition (4) The process of perceiving information
Code
a b c d
(A) 2 3 1 4
(B) 1 4 2 3
(<) 3 2 4 1
(D) 4 1 3 2

The word association technique was first developed for clinical situations by :
(A) Alfred Binet (B) Alfred Adler
(C) Francis Galton (D) Emily Kraeplin

D —0404 8



12.

13.

14.

15.

16.
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(A) TEmEET (B) A=A
(C) HE 31aeen (D) ifit

fa wtean # e fag W afs st & Hwa 772
(A) STaHRET (B) weruw
(©) % Tehad (D) g Wifd

B & STTHR UQ il & Wia gohral bt a1 S 31T, T eerareieh, SHert Sid! fasioar Td
g ST ®ed S

(A) SR FhR (B) SRR Feh
(C) B oIyl Fehm (D) Tl T
-1 (W3) de0n GeAt-11 (foeron) & gafad wifse
-1 (91s3) Heit-11 ( feremor )
(a) ®@I (1) = % SUAM &1 B 1 fearfa & shsn:
FHHSIR Y AT HA H HEG &l il
(b) T Hfd (2) Tordl fawg W HTisd w98 1 M
() =™ (3) STIHA h YR W T Ffd & s H IH
(d) ARy (4)  FEA YR Bl GEHAT
%< a b c d
A) 2 3 1 4
B 1 4 2 3
@ 3 2 4 1
D) 4 1 3 2

Jaifer aRfeafaa & fou wse Tt fafy &1 fam vema: 5= fofar o :
(A) etk foe (B) 3TCThE TR
(C) TRIa" e (D) ufhen hafed
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17.

18.

19.

20.

21.

22.

Select the correct order of the stages of sleep.

(1) EEG waves become slower and larger. There are also bursts of high frequency
waves (12-16Hz)

(2) Metabolism is at the lowest. EEG waves are entirely of Delta waves (about 1Hz)
(3) State of drowziness. Predominance of alpha waves (8-10Hz)
(4) Predominance of Delta waves (1-3Hz). Some high frequency (12-16 Hz) spindles

also occur.
Code :
(A) 1,234 (B) 21,43
© 31,42 , (D) 1,324

A six year old girl has a ‘mental age” of seven and half years. Her IQ would be :
(A) 150 (B) 125
(C) 100 (D) 75

Match List-I (Brain part) with List-II (Function) :

List-I (Brain part) List-II (Function)
(a) Medulla (1) For emotion and maintaining homeostasis
(b) Thalamus (2) Responsible for respiration and postural
reflexes
() Cerebellum (3)  Relay station for incoming sensory information
(d) Hypothalamus (4) Is concerned with motor coordination

Code : a b C d
(A) 1 3 2 4
(B) 2 3 4 1
< 3 2 1 4
(D) 4 1 3 2

The Schacter-Singer theory postulates that the experience of emotion is related to :
(A) internal changes resulting from activation of autonomic

(B) bodily changes in emotions

(C) an awareness of our facial expressions

(D) physiological changes and interpretation of the situation

Which one of the following abilities was NOT among the primary mental abilities given
by Thurstone :

(A) Memory (B) Verbal
(C) Numerical (D) Practical

Which one of the following neurotransmitters plays an inhibitory role in the nervous
system ?

(A) Acetylcholine (B) Dopamine

(C) norepinephrine (D) serotonin

D —0404 10



17.

18.

19.

20.

21.

22.

g <l STerEen3ti o HEl SHH hl = hifor

(1) S35 1 ol q O B0 § | $TH A 3 IReRAT i AsR o B § ¢ (12-16Hz)
(2) el I HIAATCA THRR FHa T HH TR WA ¢ | 3.5, 01 IUia: S aa1
B § (T 1Hz)

(3)  STSEMET Y T | 3TTHN T T T=E Bl § (8-10Hz)

(4) ST T B 9 (1-3Hz) TS I IRARAT b A (12-16 Hz) | g0 +ff 3co=1 aieft §
(A) 1,23, 4 B) 21,43

Q) 3,1,42 (D) 1,3,24

T BT Y i Il bl HHMAS 3TF 74 T8 81 IHH! gfg afeed 2t
(A) 150 (B) 125
(C) 100 (D) 75

-1 (AfETsh wrT) a0 g=i-11 () & gafad i .

-1 (AR W) Ti-11 ()
(@) gy (1) G 3R FHfefd o W & fa
(b) erE (2) T Hesl F3ra vd v R & for SRR
(c) 9 ufdTsh (3)  SATaTCl Holi-Y=T o oy forear yehrd
(d) TENITEY (4) Tras W@-wE 9 gefid
%< a b c d
(A) 1 3 2 4
B 2 3 4 1
C 3 2 1 4
) 4 1 3 2

SreR- TR fagra ufauifed &4 § foF o o1 Tgva Heifed ® :

(A) TR - TREd=l | S T ST a5 o1 reierd W fR T
(B) Ham ¥ wiften aReHl 9 |

(C) T T & WTEll o §IH H |

(D) wiRer aftEdi Te afferfa &t samen 9|

Frafafed § i H T &1 e gr giqaied Ja AHfdes amarst | T8 ¢ :

(A) wfa (B) arfae

(C) iUt (D) HATIRIRGR

dfsrert o & srekiae yfen frefafed § 4 o1 9§ <Reradis faa § 2
(A) TfherEaehifad (B) SrdmHREA

(C) AR (D) T&fH
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23.

24.

25.

26.

27.

Which of the following does not contribute to perception of depth ?
(A) Interposition (B) Relative size
(C) Perceptual grouping (D) Retinal disparity

Match List-I (type of memory) with List-II (description).
List-I(Type of memory) List-II (Description)

(a) episodic memory (1) meaning of words
(b) semantic memory (2) facts about personal experiences
(c) short term memory (3) memory for an emotionally charged event
(d) flashbulb memory (4) limited storage capacity for a brief period
Code : a b c d

(A) 2 1 3 4

(B) 1 3 4 2

< 2 4 1 3

(D) 3 1 4 2

Area of cerebral cortex that is not directly concerned with sensory or motor processes
are called :

(A) visual area (B) auditory area
(C) association area (D) somatic sensory area

A rule-of-thumb that allows for an efficient search for the selection of a problem is
termed as :

(A) algorithm (B) education
(C) heuristic (D) learning

Match List-I (Description) with List-II (Theorists).

List - I (Description) List - II (Theorists)
(a) Each person has a unique construct (1)  Erikson

system to interpret experience
(b)  All humans have two broad categories (2) Kelly

of motives, deficit and growth motives
(c) Psychological functioning is best (3) Bandura

understood in terms of continuous
reciprocal interplay among behavioral,
cognitive and environmental influences
(d) Ego development proceeds through a (4) Maslow
series of universal stages

Codes : a b C d

A 4 2 3 1
® 2 4 3 1
4 1 2 3
M 2 4 1 3
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23. fr=fafed § 9 A o8 Toeienon § JrreH T8 il § 2

(A) T=SRA (B) WG SN
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24, G-I (Afask wrT) o1 FE-11 (B6an) | gafea wifs
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(d) 31 o oo Trelfifier sTewenaii & HHi h (4) HER
AT BT IOl ©
%< a b c d
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C 4 1 2 3
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28.

29.

30.

31.

32.

33.

34.

Proactive and retroactive inhibition are examples of :
(A) decay through disuse (B) interference effects
(C) motivated forgetting (D) amnesia

Cattell’s findings show that :

(A) Crystallized and fluid intelligence start declining at the same age
(B) Crystallized and fluid intelligence do not show any decline with age

(C) Crystallized intelligence starts declining at an earlier age than fluid intelligence
(D) Fluid intelligence starts declining at an earlier age than crystallized intelligence
Size constancy refers to the tendency for :

(A) Objects of different size are perceived to be equal in size

(B) Objects of the same size to be perceived differently when viewed from different
angles

(C) The judgement of distance is independent of the size of the perceived objects

(D) The perceived size of an object to remain constant when the object is viewed
from different distances

The primary cue for the sensation of thirst is :
(A) blood sugar level (B) dryness of mouth and throat tissue
(C) dryness of the stomach lining (D) activity level of the thirsty organism

If a null hypothesis is rejected, when it is true, the error committed known as :
(A) Type II error (B) Type I error
(C) Typeland II errors (D) Probable error

To learn if there are sex differences in connotative meaning in words, which method
would be used :

(A) Deductive reasoning (B) Semantic differential

(C) Associative method (D) Inductive reasoning

Mr. Mohan while participating in a T-group training produced many different solutions
to a given problem. Mr. Mohan is high on :

(A) emotional intelligence (B) Convergent thinking

(C) Divergent thinking (D) Practical intelligence

D —0404 14



28. SHIIE! U YEIE! TRy 3% SR € :
(A) ST9EN 5N B (B) o€ YTl
(C)  srfuRoTereh foremmo (D) Hfa faeim

29. hed & e wefdfd ww € -
(A) W A T Ifg T9H Mg H HH T T < |
(B) 31 TN T If§ T o |l HH & BId |
(C) 39 gfg &9 W H = T &, A g i 37U |
(D) T gfg FH 3 | 3 g5 I ST T IR & AT T
30. TR TeeRdr TH genra i IR ST il & -
(A) fafie TR Y Sy SRR o oM @ 2 |
(B) e MR it I&Y Al il ¥ I@ W ThT-3Tel Tl |
(©) T = o yeaferd sRgell % TR ¥ wd A R
(D) forslt g w1 fafvm Al & S W a%g 1 TR 2R &t 1

31. I HAS % foIu gered Tohd ¥ :
(A)  EA H = R A (B) HZ Wd 3 I &I
(C) U< ot TIfek SR H @ (D) = Yot o1 e R

32. TR I UReReTHl STEiehd Bl © STalfeh I8 TEl € aal i T S ol e @ :
(A) T I (B) <wEIIFfe
(C) <39 I <=y 11 Jfe (D) HHiferd 3fe

33. I8 I wH % AU & Wi & wonponedes e1ef § 9 Seq ® a9 o fafy 1 suein 2w

(A) feefea ffHm (B) famfes femifrra
(C) wre=d fafy (D) weferd RS
34. J-TgE Ui § Oie foRE < TR IO ST T W e § | Hied 39y 3= 0
AR
(A) wiafitn gfg (B) whwaste fa=H
(C) TrEasie fa= (D) ARG 9fS
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35.

36.

37.

38.

39.

40.

Which one of the following is not always present in thinking :
(A) Language (B) Symbol
(C) Sign (D) Concept

According to Allport “a single trait that so pervades a person’s disposition that most of

his acts seem dominated by it” is :
(A) Central trait (B) Surface trait

(C) Common trait (D) Secondary trait

Sound waves which cause the eardrum to vibrate can be described in terms of :

(1) complexity (2) frequency
(3) intensity (4) amplitude
Code :

(A) land3 (B) 2and 3
(C) 2and 4 (D) 1land2

Which of the following is not a physiological correlate of emotions :
(A) GSR (B) Muscular tension
(C) Sneezing (D) Heartrate

Guilford’s structure of intellect model encompasses :

(A) Content, Structure and Products

(B) Structure, Process and Associations
(C) Associations, Hierarchies and Products
(D) Content, Operations and Product

Arrange the following in sequence as the processes occur in perception

1.  Appearance of shape 2. Formation of contour
3.  Figure ground differentiation 4.  Identification

A) 1, 2, 3, 4 B) 31, 2 4

< 2 3 1, 4 (D) 4, 3,1, 2
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35.

36.

37.

38.

39.

40.

frfafea & @ =0 fa o T gimfead = @ :
(A) e (B) Udlh
() fa= (D) HIH

3TETUIE o TER ‘= 1 Tk 07 S ST A bl Yefdfa war © ik fooeh g/ 35
stfehier FpaTeRaTT gefaa 210 fe@d &' 39 701 &l *ad ©

(A) = T (B) W& T
(C) wmE= T (D) T T

3 T T 6 e H Tfa 21 § - 39 foafvia foen < wehan §

(1) Sifeern (2) SR
(3) o (4) UTdELE
S :

(A) 1de3 (B) 243
(C) 274 (D) 14dem2

freafafeaa # & &M o & yfife 9Reads & defea 7= g2
(A) ST.UHR. (GSR) (B) HIHUSA T
(C) Bl (D) ®<IId

fTereie gr wfauifed gfs gfoa™ |fmfad & § ¢
(A)  Toero, 91 a1 gidwa
(B) HT=I, UHaT dem Wewd
(C) UEd, YSIIHA qMl qfawel
(

vt H wfhard form 9 # 2t @ 38 Frefafed § 9 Haeg Hifd

1. STRR 6T Fhdehul 2. e o A
3. STeRR-gBYfH e 4.  HPEE

(A) 1,2 3, 4 (B) 3, 1,2 4
Q 2,31, 4 (D) 4,3, 1,2
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41.

42.

43.

Match List-I (Illusions) with List-1I (Effects) :
List-I (Illusion) List-II (Effects)

(a) Muller-lyer (1) Horizontal line towards the converging
lines is perceived longer than the
horizontal line towards the diverging
lines

(b) Ponzo (2) The parallel lines appear to be convex
when there are radiating lines from the
midst of the parallel lines

(c) Hering (3) The parallel lines appear to be concave
when there are radiating lines from
outside the parallel lines

(d) Wundt (4) The line with the feather heads appears
to be longer than the line with the arrow
heads

Codes a b C d

(A) 1 3 4 2
(B) 4 1 2 3
() 4 3 2 1
(D) 4 1 3 2

Sound stimuli associated with frightening event used to provoke fear may cause :
(A) extinction of fear (B) conditioning of emotions

(C) spontaneous recovery (D) Dbehavioral shaping

The four different stages of concept formation include :

(1) generalization (2) comparison

(3) cognitive structure (4) sensory images

The correct sequence in which they activate concept formation is :
(A) 4,231 B) 4213

© 2,431 (D) 2,413

General instructions for question nos. 44 to 47.

Each of these questions consists of two statements. One labelled as ‘Assertion (A), and
other labelled as ‘Reason’ (R). You have to examine these two statements carefully and
decide if Assertion (A) and Reason (R) are individually true, and if so, whether the
Reason is a correct explanation of Assertion. Select your answer on the answer sheet

accordingly.
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41.

42.

43.

FRA-1 (9H) QA G-I (F4Tel) Rl GRferd i

-1 (9W) TE-11 (991 )
(a) HeR AR (1) BifSieat wan e vt % T awen o g,
ot st @t 3T9e |
(b) il (2) UEERR @ el Fdid et § S STk o
TR Fehe aTel W deg et 2 |
() = (3) TEFFR @E o fagel g et § 5 St
3R IR & @ AT 7 |
d 32 (4) OTe W@ S i il ¥ o Y 9
T a b C d
A 1 3 4 2
® 4 1 2 3
@ 4 3 2 1
M 4 1 3 2

T HTTaTC! SIS & Teifed eafq Sl S 99 YT il oft, 379 Rl & Fohdl ©

(A) 94 i feredr (B)  HeT ol STere
(C) Tod: Trfad (D) HerRIE Wt
Ty o & IR &R A F

(1) SR (2) ger

(3) HAMTHE HEA (4) Gort yfqw
Hyeqe fmior 6t Fpameierdr =1 wet %9 f7= T

(A) 4,231 (B) 4,2,1,3

(C) 24,31 (D) 2,4,1,3

U9 44 | 47 A ok o1 | FE9r ¢

11 # & g U9 F QY HUA § - T Rl AR (A) T T R HROT (R) WA feam =
¥ TYR! 37 I HHT BT LAY TS € 9 3T 91 hl 0 K B o o eafireme (A)
3R %R (R) fafere €9 @ 91 § - A &, 1 70 SR (R) TH TA AR ¥ AUHeH (A)
T 7 3T I R H 3791 I eAMYaeh foafad |
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44.

45.

46.

47.

Assertion (A) : Out of the five correlation coefficients, -0.80, 0.70, 0.50, 0.00 and
-0.20, between X and Y variables, the strongest positive relationship is
indicated by a correlation coefficient of 0.70.

Reason (R) : The correlation coefficient of 0.70 indicates that as X increases, Y also
tends to increase.

Code :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is NOT a correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Assertion (A) : In the serial position curve, maximum items are remembered from
the middle of the list.

Reason (R) : The primacy and the recency effects explain better recall of the
beginning and the end of the list.

Codes :

(A) Both (A) and (R) true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not a correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : The Rescorla-Wagner model, as compared to the classical theories
allowed a better prediction of the blocking effect.

Reason (R) : The later theories incorporated the attentional processes in their
explanations.

Codes :

(A) (A) and (R) are both true but (R) is not the correct explanation of (A)
(B) (A) is not true and (R) is the correct explanation of (A) not being true
(C) (A) is true but (R) is not true

(D) (A) and (R) are both true and (R) is the correct explanation of (A)

Assertion (A) : In apparent movement, if the distance between two slits of light is
increased, the time interval has also to be increased to continue
perceiving movement.

Reason (R) : At a given distance between the stimuli there is a range of time interval
between their presentation that would lead to apparent movement.

Code :

(A) (A) is true and (R) is its correct explanation

(B) (A) is true but (R) is not its correct explanation

(C) (A) is not true and (R) explains why (A) is not true
(D) (A) and (R) are both true and (R) does not explain (A)
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44.

45.

46.

47.

AfireRed (A) : U Fedey AR H ¥ - 0.80, 0.70, 0.50, 0.00 T - 0.20, X q&1 Y =Rf |
a9 Yae FAIHS HeH TEHeH ®t °4E 0.70 T

T (R) : 0.70 FEEsY S T I8 YHRId i ¢ foh 51 X sieat g af Y § +ff gfg 3t 8

e

(A) (A) T (R) T T € T4 (R) T AT T (A) |

(B) (A) @ (R) TFI Wl § W (R) W&l AR T2 § (A) T |

(C) (A) W& § W (R) T g

(D) (A) 7 € W (R) ¥l 1

ARTRAT (A) . STTHTR T o6 | gl & 7 U 31fechad 31 91 e ¢ |

6T (R) : e TE T (recency) TS el o URFEY o T 37 o SIgal T h
3T & W AT i € |

A) (A) TN (R) T HE § T (R) TE AR T (A) FT |
B) (A) T (R) SFI W&l € W (R) TEl AT & T (A) Fl |
C) (A) T 8 W (R) Ted 2|
D) (A)7ed § T (R) 9 B

MUY (A) : ST YT T TER Y8 FUF T Hiel SR HfadH § B, Fenfant fagid

T STUET |
HEUT (R) : a1E & Tagl A STU AT § 19 Yihan ol qHfed fhan ©
e
A) (A) T (R) ST T € T (R) BT =T e & (A)

(

(B) (A) W & ¥ T2 (R) T AT & (A) F TE TE A
(C) (A) T ¢ forg (R) T8 1 B

(D) (A) T (R) SHI &l § 01 (R) W&t ARS T (A) F|

~—"

g

ARTRAT (A) :  TW= TH= (MU Ier) H Yohrer o &1 W@sii & 7e g 9% 9t €,
HHY 30 I off IHT BT ik et 1 YAafTehaor 3idl @ |

HEUT (R) : IersIstl o ofte <t TR g W H STel bt ST B § STk TRl
S, S STTE = TR el § |

(A) (A) T T q (R) & =& T

(B) (A) W&l € AT (R) el =& Tl T |

(C) (A) T & & a0 (R) =AM it € % (A) = Ot T2 ©
(D) (A) @ (R) S T&l € 901 (R) AT 7 © (A) HT |
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Note : Read the following passage and answer the three questions
(Question No. 48 to 50).

PASSAGE

While standardizing the test, the internal consistency reliability was found to be 0.80
by the Kuder-Richardson method. The test-retest reliability over an interval of one
week was found to be 0.70. For interpretation of the scores, the raw scores were
converted into percentiles, T-scores and z-scores.

48. The Kuder-Richardson reliability gave an estimate of :
(A) the extent of similarity of responses

(B) the extent to which the items had a high inter-item co-variance

(C

(D

) the extent to which the two halves of the test were correlated
) The stability of the scores
49. The test-retest reliability of 0.70 indicated :

(A) the scores of the subjects changed completely over the week

(B) the scores of the subjects did not change at all during the week
(C) the high scorers in the first testing became low scorers in the second testing
(D) the scores of the students are not likely to change drastically over a period of one

week

50. The raw scores are converted into T-scores because :

(A) the score of an individual can be interpreted in relation to the scores of the other
persons

(B) the T-scores have a range from 0 to 100
(C) the raw scores do not provide a correct estimate of achievement

(D) the T-scores have a mean of 50.0 and an S.D. of 10.0

-00o0-
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et : F7 T=ag o1 afed aen =7 (WA 9. 48 | 50) T9H1 o W SITod |

TS

UL o HHIHT o HH H Fe RAredd fafe g M T<aeh T ek favaaiad wetich
0.80 o1 | YAYL&T0T fovad=ar U THIE & 3T<al & oG, 0.70. 9 747 | 37ehl i AT &Y
T 31l I WU, 3-ThR U9 Sie-whR | qfafda feram T

48. PR favaaigar sHuH Tt € ¢
(A) wfafensti & = guar St A R €
(B) fore Hmn qeh oTEeH & o geX-3TEed W fa=e™ (co-variance) ¥ |
(C) HiHT STef ek o wreyor o SHT N9 T Tedsife 7
(D) 3Tl st feerar foret 71

49. QAU favagHgar welish 0.70 Fefiia o §
(A) A % 3 TH GER ¥ faoga 95d T T
(B) WANAI % 3 U wHR ¥ faopa 9ga T §
(C) T WRIEH | oT= ik UM aTel Wadl 3 gEX qderor § %W i i foRd T
(D) JAEl % 3k o Uk WHE H e gRawE g S Wee TE T

50. WM 37 (raw scores) %! 313k § gHfeTT gfafia foham S €

A) TH-ATE &1 3ich T ATHAT & 37k & Faof | T 51 Fohar |
A-THR-HT HH 0 F 100 TF T

C) UM 3ish IUcifod o1 Hel HeHih Uohe Tal hidl © |

D) J-THR 1 HEHE 50.00 T WAk fa=rer 10.0 § 1

B

~—"

(
(
(
(
-00o0-
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Space For Rough Work
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